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1 100kN/mM##8Z 5% -1 -~ = -|3mZE#BZB| - = = —-|100kN/mM%#BZ 5 = -~ = i Blu st -~ = = =
st 1.00/0.00 ~ 6.33 79.59| Zh st 10.00 6.33] 1.82 9.19 s 1.00] 500 ~ 749 7959 Zh s | 500 ~ 749 1.82 9.19
9 100kN/M%#B% % -1 -~ = -I3mZzBZB| - = - —-| 100kN/mM%Z#B % % = -~ = -|3m%i#BZ5 a ~ = - -
Zzh st 1.00]0.00 ~ 5.74 71.79] £ L4t 10.00 5.74] 2.02 10.23 ZhnLst 1.00] 5.00 ~ 749 71.79] Zh st | 500 ~ 7.49| 2.02 10.23
3 100kN/mM%E{EZ % -l -~ = -|3m%E#Z2B| - = = —-|100kN/ Mm% 25 = -~ = -|I3m%EEZ S =| ~ = = =
Zhn st 1.00/0.00 ~ 6.19 77.69] £ st 10.00 6.19] 1.92 9.71 s 1.00] 500 ~ 764 7769 Zhs | 500 ~ 764 1.92 9.71
4 100kN/mM%#B% % -1 -~ = —-|3mZzBZB| - = - —-| 100kN/mMZ#B % % = -~ = -|3m%i#BZ 5 a ~ = - -
Zzh st 1.00/0.00 ~ 6.72 84.93| Zn L4t |0.00 0.00] 1.75 8.85 Zhst 1.00] 500 ~ 8.14 8493 #nlist | 500 ~ 8.14| 1.75 8.85
5 100kN/mM%E{EZ % -l -~ = -|3mZE#Z2B| - = = —-|100kN/ Mm% 25 = -~ = —-|3m%EEBEZ S —| ~ = = =
st 1.00/0.00 ~ 478 59.56| Zn L5t |0.00 0.00] 1.75 8.83 s 1.00] 500 ~ 5.01 59.56] ZnList | 500 ~ 501| 1.75 8.83
6 100kN/M%#B% % -l -~ = -I3mZz#EZH - = = —-|100kN/ Mm%z 5 = -~ = -[3m%E{E2 3 = e - - -
ZThLlst -l -~ = -| EHnLS = = = = Zn st = -~ = -| hLlst -~ = = -
7 100kN/mM%EH#BZ % -1 -~ = -|3mZE#Z2B| - = = —| 100kN/ Mm%z 5 = -~ = -[3m%EEZ D = = = =
Zh st -l -~ = - ZHn LS = = = = Zh s = -~ = - ZR st =~ = = =
8 100kN/M%#B% % -l -~ = -I3mZ#EZH - = = —-|100kN/ Mm%z 5 = -~ = -[3m%x#EZ S o ~ - - -
Zh st -l -~ = - EHnLS = = = = Zh st = -~ = -| #R LS = e = - -
100kN/mM#E#BZ % ~ ImEFEZD 100kN/mM##8 2% ~ ImEEZD ~
zh st ~ Zhn s s ~ zh st ~
100kN/M%#B% % ~ ImEBZRD 100kN/mM##8Z 5% ~ 3mEBZD ~
Zh st ~ Zh st Zh s ~ Th s ~
100kN/mM%#B % % ~ ImEHBAD 100kN/m%#8Z % ~ ImEZD ~
Zzh st ~ zh st s ~ Zzh st ~
100kN/mM%E#EZ % ~ ImEFHEZD 100kN/mM%#EZ % ~ ImEERD ~
Zh st ~ ZHLS Zh s ~ Th s ~
100kN/M%#B% % ~ ImEHBAD 100kN/m%#8Z % ~ ImEBZD ~
ThLlst ~ FHLS T IO0)) ~ T O0)) ~
100kN/mM%E{EZ % ~ ImEFHEZD 100kN/mM%#EZ % ~ ImEBRD ~
Zh st ~ ZHLS Zh s ~ s ~
100kN/mM%#B% % ~ IMERBZ D 100kN/m%#8 % 5% ~ ImEBZD ~
Zh st ~ Zhn st Zh s ~ s ~
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